Iy 448 =2 8K ot X X 1k [ #ER:1/2,500 - -
THREZERRE XX EREEOEE 155
e 7 HRAEES 132421A660423019
ne _ N ElRES BiEE)IT
by o AT 7E b KHETERERAER
L B B gRr.1/50000
N R e 2 T e
g ﬁ e &Q 1&%@@ : %%f
N NN ﬂgg\\k (e
. Yy Wi ?.r"-f;\v L kﬂzm: it
=N \ﬁwjﬁ%’r_\ﬁgp}? SaAN
{ u\;. it .\Tj \I
283 i% E/[‘Lé__\
P
5 & = T s & ey
B XIOME (L, B+ ithEBREOADRES T, BEREFETOHEH K 50000
EEER) FHEL LD THE, REES T1al. 89345)
X 5 X R 3
2886
|:| ITHREBERR S
BB XL
261.9
2RAV7
2y
53
v
2g4)2
295, Wb
St 0 50 100 m
e " ?
1/2 600
//r\\ T

1/ 1 ERE




